< d cot(8) >

o

o [

= a
I TTIrTrT I
B

e EEPEYe-

................................................

0.95!

T r T r 4
@ [ ] [ :
ARt SEELE S SR it ARt SEEELE S SR j

3 =2 -1 0 1 2 3 3 =2 -1 o0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)
é'”'—%t&%‘f‘*&é‘? _Exﬁtéi%b‘é”‘érz‘z‘* Qlogps
t

M
M”angle_step2, 1t0 1000~ eta2pOto2p5
M*? q aIZ 't

to1000_et 02

Ste)
XBTCPEGEH%IHC stepZ__pt 101080 eta2p0to2p5
10

< 0dy > (kM)

N
T
PSR TRTR B
bt

+

+ .

BT 0 I 2 3 e e S | R B
TP n (PCA to beamline) TP n (PCA to beamline)

<op/p, > (%)

I e R | R R B
TP n (PCA to beamline)



	Contents
	Page 1


